[image: ]





























[image: A picture containing graphical user interface

Description automatically generated]


image1.png
© complete the sentences.

Fractions greater than 1

‘White'

)

a)
There are 7 fifths altogether.
7fifths=| | whole +| |fifths
b) N
‘:__. There are fifths altogether.
~=<
fifths=| | wholes +
fifths
PR
E’ There ore [ quarters altogethr.
LD
quarters = | wholes +
@ @ -

@ shade the bar models to represent the fractions.

Complete the number sentences.

a3

§ = whole + thirds =
b g

§= wholes + thirds =
ot

% = whole + fifths =

& white ose ot 2013
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© conpee e stemens
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© ey bokes 26t
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a How many boescon Whiey i1

Witney con [ boes.

) How many mare muffins does Whitney need o il
another box?

Witney neds || moftns to il another box.
Explin how you know.
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complete the stotements.
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